
11 maanden      =       ........................................................................................................     weken

58,8 L      =       ........................................................................................................     cL

311,8 km²      =       ........................................................................................................     m²

54,7385 cL      =       ........................................................................................................     dL

98 cL      =       ........................................................................................................     mL

49 km²      =       ........................................................................................................     dam²

14 m³      =       ........................................................................................................     hL

949,71 cL      =       ........................................................................................................     mL

6 kilo      =       ........................................................................................................     gram

16 kg      =       ........................................................................................................     dag

849 m³      =       ........................................................................................................     hL

8 dL      =       ........................................................................................................     cL

81 cm³      =       ........................................................................................................     mL

39,79 cL      =       ........................................................................................................     mL

88,2 L      =       ........................................................................................................     dm³



11 maanden = (11 x 4) weken  =  44 weken

58,8 L      =     5880 cL

311,8 km²      =     311800000 m²     (komma 2 x 3 plaatsen naar rechts)

54,7385 cL      =     5,47385 dL

98 cL      =     980 mL

49 km²      =     490000 dam²     (komma 2 x 2 plaatsen naar rechts)

14 m³      =     14000 dm³      =     14000 L      =     140 hL

949,71 cL      =     9497,1 mL

6 kilo   =   6000 gram

16 kg   =   0,16 dag

849 m³      =     849000 dm³      =     849000 L      =     8490 hL

8 dL      =     80 cL

81 cm³      =     0,081 dm³      =     0,081 L      =     81 mL

39,79 cL      =     397,9 mL

88,2 L      =     88,2 dm³


